


 

                SUBJECT: ENGLISH 

 

 

 

1. 

LITERATURE TEXT BOOK 

 

Answer the following questions in about 30-40 words: 

 

(a) If you were in the narrator's place, how would you have handled the monkey's mischief differently? 

Use evidence from the text to justify your answer. (Monkey Trouble) 

 

(b) Is it right to keep birds or animals in cages, even if we take good care of them? Draw references 

from the poem to substantiate your answer. (Birdie, Will You Pet?) 

 

 

 

2. 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. 

GRAMMAR (THE SENTENCE & ARTICLES) & WRITING SKILL (PEOPLE AT WORK) 

 

Rewrite the following sentences by adding the correct punctuation and then identify the type of 

sentence (declarative, interrogative, imperative, or exclamatory). 

 

(a) How exciting this roller coaster is 

 

(b) Do your homework before dinner 

 

(c) What a beautiful sunset 

 

(d) Hurry up or we’ll miss the movie 

 

(e) What time does the train arrive. 

 

Find and fix the error related to articles in the sentence. 

 

(a) Sentence: "She gave me a advice about the project." 

 

Correct the sentence: ______________ 

 

(b) Sentence: "I need a umbrella for the rain." 

 

Correct the sentence: ______________ 

 

(c) Sentence: "She is the honest person I know." 

 

Correct the sentence: ______________ 

 

 

(d) Sentence: "He has a European passport." 

 

Correct the sentence: ______________ 

 

(e) Sentence: "This is an book I borrowed from the library." 

 

Correct the sentence: ______________ 

 



4. Your school organized a "People at Work" exhibition where different professionals spoke about their 

jobs. Write a diary entry in about 80-100 words describing your experience, which profession 

impressed you the most, and how it inspired you to think about your future. 

 



                         SUBJECT:HINDI  
 
1. उचित स्थान पर अनसु्वार एव ंअननुासिक का प्रयोग कीजिए- 
i) सवाद       ii) जगल       iii) कापना         iv)  स्वय               
v) पहुचना    vi)अत्यत     vii) हसना           viii) आनद  
 
2. अनसु्वार  अथवा अननुासिक के प्रयोग से शब्दों के अर्थ में आए अतंर को वाक्य प्रयोग द्वारा स्पष्ट 
कीजिए- 
    बाधा,बाँधा 
 
3. निम्नलिखित महुावरों के अर्थ लिखकर उनका वाक्य में प्रयोग कीजिए- 
i) नौ-दो-ग्यारह होना    ii) घी के दीये जलाना 
 
4. निम्नलिखित शब्दों से भाववाचक सजं्ञा  बनाकर लिखिए- 
i) शत्र ु      ii) कायर 
 
5. निम्नलिखित वाक्यांशों के लिए एक शब्द  लिखिए- 
i) किए गए उपकार को मानने वाला    ii) जो बहुत अधिक बातें करता है  
iii) जिसे कभी बढु़ापा न आए          iv)  जो अपनी इच्छा से सेवा करे  
 
6.अध्याय ‘बारहमासा’ के आधार पर फागनु महीने के सौंदर्य का वर्णन अपने शब्दों में लिखिए। 
7. आपको कौन-सा महीना अच्छा लगता है और क्यों? 
8.राकेश में अपने मित्रों को एक ‘बड़ा कलाकार’ होने की क्या खबूियाँ बताई थी? 
9. यदि आप निर्मला की तरह किसी मसुीबत में फँस जाएँगे तो आप क्या करेंगे ?  
10. सच्चे मित्र की क्या पहचान होती है? निर्मला ,साँप और सयाल अध्याय के आधार पर लिखिए। 
 
गतिविधि 
 
*सच्ची सगंति पर पाँच दोहों का सकंलन कर 1/4 साइज चार्ट पेपर पर लिखिए।  
*परूी गतिविधि को अपनी पसदं के अनसुार सजा कर आकर्षक बनाइए। 



SUBJECT - BENGALI 

১। সঠিক ঠিকল্পঠি বিছে বেছ ো :  
ক) ঠিিৃঠি ১ - িৃদ্ধ মোধি ঠিছ োমঠি  মন বেছক ধমমীয় সংকীিমিো দূ  হে। 
   ঠিিৃঠি ২ - ঠিঠন একজন অব্রোহ্মছি  হোছি জে বেছয় ব ছেন।  
      i) ঠিিৃঠি ১ ও ২ সিয                       ii) ঠিিৃঠি ১ সিয, ঠিিৃঠি ২ ঠমেযো  
     iii) ঠিিৃঠি ১ এিং ২ ঠমেযো                   iv) ঠিিৃঠি ১ ঠমেযো, ঠিিৃঠি ২ সিয  
 ) মন্তিয : জীিছন যি িোন্ডো জে ব ছয়ঠেছেন িো এছক এছক মোধি ঠিছ োমঠি  মছন আসছি েোগে।  
    যুঠি : অসহয ঠিিোসোয় ঠিঠন কোি  হছয় িছ়েঠেছেন। 
   i) মন্তিয যুঠি উভয় ভুে                       ii) মন্তিয সঠিক যুঠি ভুে  
  iii) মন্তিয ভুে যুঠি সঠিক                      iv) মন্তিয যুঠি উভয় সঠিক 
গ) ঠিছেসছদ  িোঠ়ে ঠেে  
    i) ককিিম িো়েোয়                              ii)  িনিুছ   
   iii) আমছ োিোয়                               iv) নিোিগছে 
ঘ) ঘিনোগুঠে ক্রমোনুযোয়ী সোঠজছয় সঠিক ঠিকল্পঠি বিছে নোও- 
  অ) ব্রোহ্মছি  কোি়ে বেোি়ে গ ম হোওয়োয় আগুন হছয় উিে। 
  আ) িিিেোয় বিৌঁছে বদ ছেন একিো জেসত্র। 
  ই) িৃদ্ধ মোধি ঠিছ োমঠি মহোিয় ঠিষ্যিোঠ়ে যোঠিছেন। 
  ঈ) ব্রোহ্মি বদছ  ঠিছ োমঠি মহোিয়ছক সিোই  ুি  োঠি  ক ে। 
  i) অ-১, আ-২, ই-৩, ঈ-৪                      ii) অ-২,আ-৩,ই-১,ঈ-৪ 
 iii) অ-৩,আ-২, ই-৪, ঈ-১                      iv) অ-২,আ-৩, ই-৪, ঈ-১ 
ঙ) ি ৎ + েন্দ্র - সঠি ক ছে হয় - 
  i) ি ৎেন্দ্র                                    ii) ি চ্চন্দ্র  
 iii) ি দেন্দ্র                                   iv) ি েন্দ্র 
ে) "আশ্চযম" িব্দঠি  সঠি ঠিছিদ ক ছে হয় - 
   i) আঃ + েযম                                  ii) আ + েযম 
  iii) অ + েযম                                   iv) আশ্ + েযম 
ে) হো োন েক্রিিমী এছসঠেছেন - 
   i)  িনিু  বেছক                             ii) কেকোিো বেছক 
  iii) িোাঁকু়েো বেছক                              iv) িধমমোন বেছক  



জ) "ঠক বহ বমো়েছে  বিো" - এ োছন 'ছমো়েছে  বিো' হছেন -  
   i) বকনো োম মণ্ডে                            ii) িো োেোাঁদ মণ্ডে 
  iii) হো োন মণ্ডে                              iv)  োমে ি মণ্ডে 
ঝ) মন্তিয : নন্দীিুছ   সু্কেঠি িি হছয় বগে। 
   যুঠি : হো োন মোস্টো  জয়িত্র বিছয় গ্রোম বেছ়ে েছে ঠগছয়ঠেছেন 
   i) মন্তিয যুঠি উভয় ভুে                     ii) মন্তিয সঠিক যুঠি ভুে  
  iii) মন্তিয ভুে যুঠি সঠিক                   iv) মন্তিয যুঠি উভয় সঠিক 
ঞ) দন্তয-ন এ  ি  উষ্মিিম েোকছে বসই দন্তয-ন -এ  স্থোছন ংং অনুস্বো  হছয় যোয় - এই সূত্র 
অনুযোয়ী ঠনছে  বকোন সঠিঠি হছয়ছে - 
   i) িন + িঠি = িনস্পঠি                    ii) অনু + বেদ = অনুছিদ 
  iii) সম্ + সো  = সংসো                      iv) ঠহন্ + সো = ঠহংসো 
২। সিয ও ঠমেযো ঠনিময় ক  : 
ক) ঠিেোছ   ঠদন ঠস্থ  হে আগোমী িুদ্ধ িূঠিমমো  ঠদন। 
 ) ঠনিোিছন ঠসদ্ধ সঠিগুঠে  বেছত্র সঠি  বকোন ঠনয়ম প্রছযোজয নয়। 
গ) 'সঠি' িছব্দ  অেম হে ঠমেন। 
ঘ) িো োেোাঁদ িো  বেোি বিোনঠিছক ঠনছয় নিোিগছে  হোছি  োি ঠিঠক্র ক ছি ঠগছয়ঠেে। 

৩। প্রশ্নগগুঠে  যছেোিযুি উ্তর  বেছ ো :   
ক) িো োেোাঁদ ঠিছেস বকন জেসত্র িঠসছয়ঠেছেন? 
 ) িযেন সঠি কি  কম ভোছি হয় উদোহ ি সহ বেছ ো। 
গ) িোংেোয় বকোন্ বকোন্ িব্দগুঠে  সঠি ক ো  সময় সংসৃ্কি িযোক ছি  সঠি  ঠনয়ম মোনো হয় নো? 
৪। সংঠেপ্ত আকোছ  উ্তর  বেছ ো : 
ক) "এ মোি িো  হছি যোওয়ো বয ইছি কছ  প্রোি ঠদছি যোওয়ো  িোঠমে" - কজযষ্ঠ মোছস দুিু ছিেো 
মোিঠি  িঠ ছিি বকমন হয় িো বেছ ো। 
 ) বকোন্ মোষ্টো মিোই জয়িত্র বিছেন এিং কীভোছি? 
 
 
 



৫। 

      
ঠেছত্র বদ োছনো দূষ্ি সম্পছকম সছেিন কছ  ও িো প্রঠিকোছ   উিোয় জোঠনছয় িিুছক একঠি ঠেঠি 
বেছ ো। 
৬। “জেসত্র” গল্পঠি ঠেছত্র  মোধযছম ফুঠিছয় বিোছেো। 

         



            

             

                                   Sub-Sanskrit  
 

 

अधोलिखित गद्यांश: पठित्वय प्रश्नयनयम ्उत्तरयखि सांस्कृतेन लिित- 

कश्श्ित ्बिवयन ्लसांहः वनस्् रयजय आसीत।् सवे पशवः लसांहयत ्भीतयः 
आसन।् लसांहः प्रततठिनां पशून ्मयर्तत स्म।पशुनयम ्सङ्ख््य न््ूनतय अभवत।् 
लसांहयत ्भीतयः पशवः गुहयसु वसश्न्त स्म। 

1)पयिां पठित्वय आम ्अथवय नठह लििन्तु- 

i)लसांहः वनस्् रयजय आसीत ्। 

ii) पशवः लसांहयत ्भीतयः न आसन।् 

iii) लसांहः पशनू ्रक्षतत स्म। 

iv) पशूनयां सां््य न््ूनतरय अभवत।् 

गुहय्य स्वयमी एकः शृगयिः आसीत। सः अतीव बुदधधमयन ्आसीत ्सय्ांकयिे 
्िय सः गुहयां प्रतत आगच्छत ्तिय मयगे सः लसांहस्् िरि धिह्नयतन अपश््त।् 
गुहय्यः समीपां गत्वय सः श्रगृयिः उच्िचः अवित ्अत् गुहे! अहम ्आगच्छम ्
प्रततठिनम ्इव कथ् सववत्र कुशिम अश्स्त न वय ? लसांहः अधित्न्त ्- ्ठि 
अहम ्उत्तरां न ियस््यलम तिय तु श्रगृयिः गलमष््तत अतः सः अकथ्त ्



                             SUBJECT -SANSKRIT  

 

अधोलिखित गद्यांश: पठित्वय प्रश्नयनयम ्उत्तरयखि सांस्कृतेन लिित-  

कश्श्ित ्बिवयन ्लसांहः वनस्् रयजय आसीत।् सवे पशवः लसांहयत ्भीतयः 
आसन।् लसांहः प्रततठिनां पशून ्मयर्तत स्म।पशुनयम ्सङ्ख््य न््ूनतय अभवत।् 
लसांहयत ्भीतयः पशवः गुहयसु वसश्न्त स्म।  

1)पयिां पठित्वय आम ्अथवय नठह लििन्तु- 

i)लसांहः वनस्् रयजय आसीत ्। 

ii) पशवः लसांहयत ्भीतयः न आसन।् 

iii) लसांहः पशनू ्रक्षतत स्म। 

iv) पशूनयां सां््य न््ूनतरय अभवत।् 

गुहय्य स्वयमी एकः शृगयिः आसीत। सः अतीव बुदधधमयन ्आसीत ्सय्ांकयिे 
्िय सः गुहयां प्रतत आगच्छत ्तिय मयगे सः लसांहस्् िरि धिह्नयतन अपश््त।् 
गुहय्यः समीपां गत्वय सः श्रगृयिः उच्िचः अवित ्अत् गुहे! अहम ्आगच्छम ्
प्रततठिनम ्इव कथ् सववत्र कुशिम अश्स्त न वय ? लसांहः अधित्न्त ्- ्ठि 
अहम ्उत्तरां न ियस््यलम तिय तु श्रगृयिः गलमष््तत अतः सः अकथ्त ्
आगच्छ ! अत्र सववम ्कुशिम ्अश्स्त। श्रगृयिः सत््ां ज्ञयत्वय तक्षिम ्एव 
अधयवत ्। लसांहः पश्ियत्तयपम ्कृत्वय बुभकु्षक्षतः एव अततष्ित।् 

2)एतेषयां प्रश्नयनयम ्उत्तरयखि एकपिेन लििन्तु-                         



i)लसांहः कयन ्मयर्तत स्म? ii)पशवः कुत्र वसश्न्त स्म?iii)सत््ां ज्ञयत्वय शृगयिः 
तत्क्षिम ्ककम ्अकरोत?् iv)कः पश्ियत्तयपम ्अकरोत?्v)कः बुभुक्षितः आसीत्?  

3) रेियङ्खककतपिचः प्रश्नः तनमयविां कुववन्तु- 

i) लसांहः बिवयन ्आसीत।् 

ii) पशवः लसांहयत ्भीतयः आसन।् 

iii) गुहयसु वसश्न्त स्म। 

iv) पशूनयां सा्ं ्य न््ूनतरय अभवत।् 

4)उधितम ्ववशषे््ां पिेन ररक्तस्थयनयतन परू्न्तु- 

i) भीतयः ______ 

ii)बुदधधमयन ्_______ 

iii)बिवयन ्________ 

iv)न््ूनतरय ________ 

v)एकयम_्________ 

5) अधोलिखित वयक््यतन उधित- धयतुरूपचः पूर्न्तु-  

i)बयलिके_____ 

(अपित/्अपितः) 

 ii)गजः _____ 



( िितत/ िितः) 

iii)्ू्म ्_____ 

(क्रीडलस/ क्रीडथ) 

iv)िटकयः______   

(कूजतत/कूजश्न्त)  

v)तौ ______ 

(वपवतः/ वपबन्तः) 

vi)अहम ्_____              

(पठिष््तत/पठिष््यलम) 

 अधोलिखितां गद्यांशां पठित्वय प्रित्तः प्रश्नयनयम ्उत्तरयखि सांस्कृतने लिित-  

कश्श्ित ्बयिः वङ्खगप्रिेशे एकश्स्मन ्ववद्यि्े पितत स्म।सः पिने कुशिः न 
आसीत,् ्त ्पितत तत ्ववस्मरतत स्म। सहपयठिनः तस्् उपहयसां कुववश्न्त 
स्म।सः धिन्त्तत ककम ्अहां मूिवः अश्स्म? ककां  मम भयग््े ववद्य न अश्स्त? 
परन्तु अहां तु पठितुम ्इच्छयलम। एकिय सः मयगेः एकां  कूपम ्अपश््त।्कूपस्् 
उपरर एकः घटः आसीत।् घटस्् अधः एकां  गतवम ्अपश््त।् सः अधिन्त्त ्
इमां सुन्िरां गतं कः तनलमवतवयन ्? सः मयतरम ्अपचृ्छत ्– मयतः ! अहां कूपे 
घटस्् अधः एकां  गतवम ्अपश््म।् तां गतं कः तनलमवतवयन?् मयतय अवित ्– 

पुत्र! प्रततठिनां भू्ो भू्ः घट-स्थयपनेन सः गतवः तनलमवतः। सः बयिः ववियरः 
मग्नः अभवत।् सः अधिन्त्त ््ठि भू्ो भू्ः घट-स्थयपनेन पयषयिः लशिय्यां 



गतवः अभवत ्तिय ककां  पनुः पुनः पिनने मम मततः तीव्रय न भववष््तत? इतत 
वविय्व सः ववद्यभ््यसे सांिग्नः अभवत।् सः पुनः पुनः पयियन ्अपित।् पुनः 
पुनः िेिस्् अवप अभ््यसम ्अकरोत।् शनचः शनचः सः बुदधधमयन ्अभवत।् सः 
परीक्षय्यां ववलशष्टां स्थयनां प्रयप्तवयन।् अधुनय तस्् सहपयठिनः तस्् उपवयसां न 
कुववश्न्त स्म अवपतु आिरां कुववश्न्त स्म। 

सत््म ्एवां अश्स्त –‘अभ््यसः एव अश्स्त परमो गुरः।’ 

6) उधितां पिचः ररक-स्थयनां पूर्न्तु-   

i) बयिकः पिने __________आसीत।् 

ii) सहपयठिनः तस्् _________कुववश्न्त स्म। 

 iii) सः मयगेः एकां  _________ अपश््त।् 

iv) प्रततठिनां __________ घट-स्थयपनेन सः गतवः तनलमवतः। 

7) एकपिेन उत्तरत – 

i) छयत्रः कुत्र पितत स्म? 

ii)घटस्् अधः ककम ्आसीत?्  

iii)बयिकः परीक्षय्यां कीदृशां स्थयनां प्रयप्तवयन?् 

iv)परमः गुरः कः अश्स्त? 

8) स्थूिपियतन आधतृ्् प्रश्नतनमयवनां कुरत-  

i)छयत्रः कूपम ्अपश््त ्। 



ii) छयत्रः मयतरम ्अपचृ्छत।् 

iii) घटस्् अधः एकां  गतवः आसीत।् 

iv)उपहयसकयरियत ्छयत्रः िःुिी आसीत।् 

v)बयिकः ववियरमग्नः अभवत।् 

9) मञ्जूषयत ्उधितां ववपरीतपिां धित्वय लिित – 

मञ्जूषय( स्मरतत, अनयिरम,् बुविमयन,् उपरर, अकुशिः) 

i)ववस्मरतत _________ 

ii)मूिवः ____________ 

iii)अधः ____________ 

iv)कुशिः __________ 

V)आिरम_्_________ 

10) अस ् धयतुरूपम ् िय धयतुरूपम ् ि (िट्,िङ्ख, िटृ् िकयरेषु) किय प्रपते्र (Art paper) 

गततववधधरूपेन (As a project) लिित। 

 



SUBJECT: MATHEMATICS 
SECTION-A 

1.  If a rational number is expressed in its simplest form, the HCF of its numerator and denominator is 

always:  

(a) 0      (b) 1            (c) The numerator itself            (d) The denominator itself 

2. Find the TRUE statements from the following: 

(a) All integers are rational numbers.  

(b) All rational numbers are integers.  

(c) All
  
fractions are not rational numbers.  

(d) There are no rational numbers between two integers.    

       3.   Calculate the result of 
9

5

7

4 
  

           (a) 
63

20
             (b) 

63

20
              (c) 

16

9
            (d) 

16

9
 

        4.  Which of the following rational numbers lies between 
4

1
 and 

2

1
?  

         (a) 
3

1
                  (b) 

5

1
                  (c) 

2

3
                   (d) 

2

5
 

        5.   What is the value of 
3

2

15

8



? 

           (a) 
45

16
            (b)  

5

4
              (c) 

5

4
                    (d) 

45

16
 

SECTION-B 

6. Represent the rational number 
5

3
 on a number line. 

7. Find three rational numbers equivalent to 
7

4


. 

8.  Compare the following pair of rational numbers using the cross-multiplication method: 
8

5
 and 

4

3


. 

Which one is greater? 

 

 

 



SECTION-C 

9. Arrange the following rational numbers in ascending order: 
2

1
,

8

5
,

7

3 




. Show your steps clearly. 

10. Insert three rational numbers between 
3

1
 and 

2

1
. Show the method you used to find these numbers. 

11.  A rope is 
2

1
12  meters long. If it is cut into 10 equal pieces, what is the length of each piece? 

Express your answer as a rational number in its simplest form. 

 

12. Evaluate: 
16

15

5

4



− 

9

4

3

2 



. Show each step of the simplification. 

 

SECTION – D 

13.  A school library has a total of 600 books. 
5

2
 of the books are on mathematics, 

3

1
 are on science, 

and the rest are on other subjects. Find the number of books in each category (mathematics, 

science, and other subjects).  

 

Project Work : 

In a full Chart Paper Listing the properties (with name) of operations (addition , subtraction , 

multiplication , division) on rational numbers. 



Subject:- Science 

 

Group- A 

Subject: Physics 

Part 1: Observation Diary – Types of Mirrors Around You 

Observe and record the different types of mirrors you see in your surroundings during summer vacation and 

understand their practical uses in SCIENCE ACTIVITY COPY. 

Instructions: 

• Observe mirrors in different locations such as home, vehicles, shops, and roads. 

• Identify the type of mirror: plane, concave, or convex. 

• Note where you found the mirror and why it is used in that place. 

Record your observations in a diary or notebook using the following format: 

Date Type of Mirror Where found Function/Purpose 

    

    

 

Make at least 5–7 entries over the course of your vacation. 

Part 2: Working Model – Periscope or Kaleidoscope 

Create a simple optical instrument using easily available materials. 

Instructions: 

• Choose either a Periscope or a Kaleidoscope to make. 

• Use minimum and easily available materials like: 

• Cardboard tube or box 

• Small mirrors or reflective foil 

• Transparent sheets 

• Coloured paper, beads, or sequins (for kaleidoscope) 

• Assemble the model following safe procedures. 

Important Note: 

• Beware of sharp edges of mirrors or scissors. 

• Always work on this model in the presence of parents or seniors to ensure safety. 

Group- B 

Subject: Chemistry  



Solve the questions:- 

Seri

al 

No. 

Questions 

1. Full in the blanks 

The process that leads to a chemical change is called a ___________. 

2 The question below consists of an assertion and a Reason. Use the following key to choose the 

appropriate answer. 

(a) Both A and R are true and R is the correct explanation of A. 

(b) Both A and R are true but R is not the correct explanation of A. 

(c) A is true but R is false. 

(d) A is false but R is true. 

Assertion (A) : Change of water from liquid to steam on heating is a physical change. 

Reason (R): The value during heating remains the same and the change involves a change in 

composition. 

3. Balance the following equation: 

Ca(OH)2 + HCl → CaCl2 + H2O 

What are reactants and products in a chemical equation? 

4. A student observes a candle burning. 

 (a)Is this a physical or chemical change? Explain your reasoning. 

(b) What are some of the products of this change? 

5. In the name of a chemical substance, made up of a positive and a negative ion, generally,the n

ame of the positive ion is mentioned first followed by the name of the negative ion. For examp

le, the chemical name of common salt is sodium chloride. Here, the name of the positive ion (

Sodium, Na+) is mentioned first and the name of the negative ion (Chloride, Cl-)is mentioned 

afterwards. In the chemical formula also,the symbol for the positive ion 

is written first followed by the symbol for the negative ion. Hence, the chemical 

formula of sodium chloride is written as NaCl not ClNa. 

In the table gsiven below, some commonly used positive and negative radicals are listed. Use 

the crisscross method to obtain the formulae of the compound that is formed using the given 

radicals . Name the compound thus obtained. 

In the table  

 

No. Positive radicals Negative radicals Formula Name of the compound 



1. Al3+ (PO4)
3-   

2. Ca2+ (NO3)
-   

3. (NH4)
+ (SO4)

2-   

4.  Al3+ C4-   

 

 

 

 Group- C 

Subject: Biology  

1.Prepare an activity to show the growth of fungi  using Bread. 

Write the activity in your activity copy with following sub topics such as 

• Aim of the activity  

• Materials required  

• Process/procedure 

• Results/Observation  

After getting the result, paste the picture on the white part of activity copy. 

Assessment Questions :- 

1. Name the mode of nutrition followed by above mentioned fungi. 

2. How do fungi follow such a type of nutrition? 

3. Mention the type of digestion followed by the fungi. 

4. Give 2 examples of fungi. 

 

---------------------------------------------------------------- 



Subject : Social Science 

___________________________________________________________________________ 

  

Q.NO. QUESTION 

1. Explain the significant achievement of the medieval period and why was it 

significant?                                                                                                              

2. Write three features about manuscript.                                                                     

3. Describe any three features of “The National Archives of India is located in New 

Delhi.” How National Archive is important to reconstruct our past?                                              

 

4. State the main features of the Constitution.  (3 points)                                                                                              

5. “ Reservation was ensured respect and dignity of the Backward classes in India”.  

Brief it 

6. Define Multi Party System. In India such political format is effective or not ? 

Write your opinion on two points. 

7. Contrast between two parts of the Lithosphere.  

8. Elaborate the role of environment in our basic life support system. 

9. Describe the formation of one erosional feature and one depositional feature of 

wind   .      

10.  As an important part of environment write down the role of human beings to 

sustain all forms of life on earth.            

 Activity 

Atal Bihari Vajpayee government (1999-2004) was a true definition of coalition 

government. Make a diagram and show how many political parties joined in this 

coalition government. In diagram write the political party’s name and symbol. 

 

 

Map Based Work 

On a political map of India locate  & label the following soil types: 

i) Forest and Mountain Soil 

ii) Laterite Soil 

iii) Black Soil 

iv) Arid Soil  

 

 


